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Abstract

The 800m event was discussed, and that some biochemical indicators have a direct
impact on the students’ ability to continue performing with maximum effort and in the
shortest possible time, as this event falls within the most difficult energy production
systems, which is the lactic acid system. The importance of research is to find a
predictive equation for the completion of this race in terms of some Biochemical
indicators for them this equation will be a valuable tool for trainers. As for the
problem of the research, and through the researcher’s follow-up of the local
championships, he noticed that there is a difference in the completion of the 800 m
event for women between high and low, and between one student and another, and
one student and another. This may be one of the most important reasons for the
quality and trends of the training provided to them or the study of the biochemical
components of the female students. The research sample represents female students in
the College of Education. Physical Education and Sports Sciences at the University of
Dohuk used special tests and measurements and used statistical laws rather than
extracting results. The researcher concluded that the contribution of the hemoglobin
Hp index had the highest percentage of contribution to the completion of 800 meters
among female students of the College of Physical Education and Sports Sciences. She
recommended the need to pay attention to the percentages of contribution that the
study showed to the hemoglobin Hp index.
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Finding a predictive value for the achievement of running the 800 m...
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